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○計算をして、空欄を埋めましょう。

⑴ ① ② ③ 合計 ⑵ ① ② ③ 合計

A 3 9 A 4 2 7

B 2 4 7 B 3 3

C 1 5 3 C 1 5 10

合計 8 9 25 合計 8 9 26

⑶ ① ② ③ 合計 ⑷ ① ② ③ 合計

A 2 3 A 3 2 9

B 1 5 10 B 2 1 8

C 2 2 C 2 2

合計 8 8 9 25 合計 8 7 24

表計算
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○計算をして、空欄を埋めましょう。

⑴ ① ② ③ 合計 ⑵ ① ② ③ 合計

A 3 0 A 2 4 7

B 5 3 9 B 0 1

C 4 3 9 C 5 2 10

合計 8 8 23 合計 7 5 18

⑶ ① ② ③ 合計 ⑷ ① ② ③ 合計

A 1 0 1 A 1 10

B 9 B 2 1 6

C 5 1 4 C 2 4 9

合計 8 5 8 21 合計 8 9 25

表計算
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○計算をして、空欄を埋めましょう。

⑴ ① ② ③ 合計 ⑵ ① ② ③ 合計

A 3 1 8 A 4 5 11

B 0 1 5 B 1 3 4

C 5 1 C 6 0 10

合計 5 6 21 合計 8 25

⑶ ① ② ③ 合計 ⑷ ① ② ③ 合計

A 1 6 2 A 4 10

B 3 0 8 B 0 2 5

C 3 2 7 C 1 2 1

合計 9 24 合計 2 8 19

表計算

©縁の下の言語聴覚士



 ３×３ 🔎縁の下の言語聴覚士

https://lovethelife777.com

○計算をして、空欄を埋めましょう。

⑴ ① ② ③ 合計 ⑵ ① ② ③ 合計

A 1 3 9 A 3 1 5

B 2 4 1 B

C 1 4 4 C 2 5 2 9

合計 8 25 合計 9 8 9 26

⑶ ① ② ③ 合計 ⑷ ① ② ③ 合計

A 4 1 A 3 2 6

B 6 0 9 B 2 1 7

C 2 1 10 C 3 0 4

合計 8 8 25 合計 7 17

表計算
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○計算をして、空欄を埋めましょう。

⑴ ① ② ③ 合計 ⑵ ① ② ③ 合計

A 5 0 A 2 2 6

B 1 3 10 B 3 1 1 5

C 4 0 7 C

合計 9 9 24 合計 5 8 9 22

⑶ ① ② ③ 合計 ⑷ ① ② ③ 合計

A 1 7 A 5 9

B 0 1 B 6 3 4

C 0 5 9 C 0 3 5

合計 10 9 7 26 合計 9 8 27

表計算
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